Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER VI « EXAMINATION — SUMMER 2017

Subject Code: 3360606 Date: 09-05-2017
Subject Name: Railway, Harbour & Tunnel Engineering
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. £20HIel SlEUBRL Ulclotl sellol WU 14

1. Define “Gauge” in railway. List various gauges used in India with
dimensions.

. AU Awell cavall WAL ARAHL dURldl QALY Nogell Aett Hiu
PGS

Explain the term Points and Crossing.

WéeA ol sl{loL ue qmestal.

Give classification of railway yards.

e Also] cdllsaL L.

Define the terms “Dock” and “Jetty”.

“Sls” U “gEl” Ueall catvall .

Define the terms “Break water” and “Mole”.

“Q0s clleR” ol “UA” Ueoll carvaul .
Differentiate between “Beacon light” and “Light house”.
“(Olsol clge” Wal “clese slGU” clAall dslcld WU,

State two advantages and two disadvantages of full-face method of
tunneling.

2olcl titlslHHL $et 31 Uttlcloll A glaAel AU A RglaAEL ¥RUA.
Name any four explosives used in tunnel construction.

2ol GLUSIHHL dURAL 518 URL AR (ARFl2Sloll ol L.

Explain the term “Ventilation” and “Drainage” in tunnel.

“AElAA” WA “F%” UERA 2olcloll el UMt

Explain the term “Lining” and “Grouting” in tunnel.

“Alese{(ol” “OJ.lGaTOL” Yol eolcloll Aealul AHmAl
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Q.2 Give any six functions of rail sleepers. 03
yst.? () e elluRell 518 wel o9 stal el 03

OR
(@  Give any six requirements of an ideal rail. 03
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el 2 wel Hzell 518 Ul &9 w33lalAl sl
List types of rails and describe any one with sketch.

A ueletll yYsAoll ael audl axiell 518 Asef sl A adlet

53

OR
Explain with sketch coning of wheels in railway.

cAotl Uslej 2520l Aisld €131 umendl.
List any eight functions of railway stations.
A RaAotoll 518 el wUs staAlell el wotial.

OR
Explain any two types of crossing based on their shape using figures.

ULS1Rall WU 518 Ul A sl{loletl st vuslAell Heeell unsal

List any eight hand tools used for railway track maintenance and give
function of each.

A 2soll [Aewall Mot 518 uQl 2 ola AxRAe{l A€l cotlal

Wl €359 sl auul.

OR
List any eight surface defects in railway track with their causes.

A 2soll Audl uR Geaadl sy ugl wws vl el Ast
HLZell $1R00 WA cotlal.

Define interlocking and state its four principles.
o2 2AUS0Le{l caltuall UL Aell R Rl Ru.

OR
State any six objects of signaling in railway.

AL RostAloetl S8 Uil © Gall LUl

Compare mound type and wall type break water based on their merits and
demerits.

oS 2lsU WA A asU as cleell AMell GUlGUCUoll MR

AuiLHE(l 3.

OR
Write uses of: Dolphin, Wharf and piers.

sleslot, cols wal Ylalell GUAN .
Draw a layout of harbour and show its components.

slolRell Q-G (RulAA) €131 Aell uesl ealal
OR
Give classification of harbours based on their utility and location.

GUA(lcl Aol Wlolal WUR sloiRe] cldlsL 5.

What are the purposes of tunnel lining? List types of lining and describe any
one of them with figure.

2ol Aottt SRl 9 8? clga(latall ystAoll el eottcll auioll

518 Aso] ugld WA adlet 52A.

OR
List any four methods of construction of tunnel in soft ground and describe
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any one of them with the use of figure.
WRA gHlotHl 2otctotll ciusti Hizell S8 wel AR weel(Qle(l el

watlcll Auisll 518 As utulde] usld WA aglet s3A.

How is the centre line of a tunnel transferred from the surface through shaft?
Explain using figure.

2olcoll ¥ loll AUl uRell HraRula wseHidl A eacul 58 Jld
A8 sllHl WA B A wslAel Heell wmesal.

OR
Explain permanent drainage for a tunnel with figure.

2ol staAHl o wsld €131 unestal.

Give classification of tunnels based on the purpose and shape. Also state
advantages and disadvantages of any two shapes of tunnel.

& ol ISRl MUR 2aicts] co(ls0L WU, 2actall S8 UQl &

VSRl AlAHIALAH UL %Qllfh.

OR
Describe methods of ventilation in tunnel.

2ol sallBsy H2all o] anlat 53,

Define cant. Find out the maximum permissible speed of a train on a broad
gauge track having a curvature of four degrees (in metric system 30 m chord
length) and a cant of 10 cm. Consider allowable cant deficiency as 75 mm.
Assume that safe speed obtained by railway board’s formula is higher than
the speed obtained for equilibrium cant.

Bslal(¥oe)oll caltval M. So2oll Mo ue 9u HlLHl dla Al UR
SLflell cmis/onous (ARs uraldui 30 Hl. auw) w10 AL
Bolad(302) HRAAl GlsAw WA 25 GUR 28atell Uclstd(luLat
HedH ol . A@Ad Gslal Hizell ol A AL YA Yosololl
AAMA A 5l WYL B Ad il AL

Draw a single railway track and show its components.

Aol e 250l Aotl €35 Ueslotl it WAL 2s(Q €L

Draw neat sketch of left hand turnout in railway and show its components.
AL stodl sleell 2oliBeo{l €35 Ueslotl it WAL sl €RL
List any six requirements of a good harbor.

s ARL slelR Hzall 518 UL &9 w33laudl el

State any six advantages and disadvantages of tunnel compare to open cut.
vl Wl ARUUHRIML 2atcall Sl8URL & CleilAlel SR
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